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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

400 i n|\ T e ——— I: : .
M A ﬂ / N i :L_\VVI\ VV‘ —— op
o W \'\/\ : u /VJ U\_/ /%\
UYL 1 T
200 ) ' U i

vs TN =g
/ T

z: A | AL A - A

= YWY

-
—
S
-

15.0 U

12.5
0 25 50 75 100 125 150 175
d
i M
80 ! e RHopt_
70 .ﬁ ﬂ \VA\ uA\,\ f\\ifl\v/\vr/\/\
\¥(' A l N L
60 V I
WL i
50 :
v i
0 25 50 75 100 125 150 175
d
1750 2 i ETcl i
1500 /)VA\ E r\wAVA — —— optETel
1250 \ \: / \IJ I\N
1000 / V \ / A M\Q\L\_

/ |
750 V | |
500 A V E %

e

j/’_\ — LAl

2.0 —

1.5 /
1.0

e

5 100 125 150 175

1.4

1.2

/'\'AVAU A —— optEtRate
[ W

N
V(G

<>
—

0.8

0.6 \

0.4

—_—
P

NIV o

0.2

0 25 50 75 100 125 150 175



Plot [['setVl ETcl’, 'setVl _fgRec’, 'setVI_VN', ’'sl|SetVI']]
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Plot [['ECC:b—0’,
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-11
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P3-11
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P3-11

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

08:30 288 150.0 2.888 Z| {Ri%e08:30 Bz (KREAEHE)
09:30 288 150.0 2.888 [Z=| 1BRi%e09:30 Bzh (REEER)
10:30 288 150.0 2.888 |Z=| {Ri%e10:30 Bz (KREAEHE)
11:40 288 150.0 2. 888 FE| 1BRi%e@11:40 Bz (kBERSE)
13:20 288 150.0 2.888 FA| {Ri&@13:20 Bzl (GkAEEEE)
15:05 288 150.0 2.888 FH| 1Ri%@15:05 B3h (KRAERRSE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 5.9

TERRHER 2 STEEART (187.0 :

ZRIALBRIERE153.0 ml.

HEEIKECE (2007.0 vs 4407.0) 35

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=60 (2025-06—01)

150 A

100 A

50

200 -

150

100 A

50 A

VI, V"RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET i
1200

94 935 |

60 60

Warning: lcol [FVI',| "FVO’'] missing

-

Vi —_ ME P

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

300

200 -

100 A

0 1

]
Bylnit @62 01:51: ET=1784 Fg=2100.0 Ro=481.0
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]
ByWon:@D62 01:51: ET=799 Fg=900.0 Ro=118.0 s

0.8

0.6
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0.2~

0.0

600 4
400 -

200 ~

—_— 4
[ ] | _obs
—@— PPFD obs

604+ @ RH_obs

RH

(] RHo_obs

A Wi
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1000
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0
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o
o
o
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o
o
o
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



24.5

24.0

23.5

23.0

22.5

22.0

—O—

M_E
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760 860
m=855,n FV0=0

T
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T
1000

24. 4 +

24.2 -
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23. 8 -

23. 6

23. 4 -

—o—
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m=625,n FV0=0

T
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27.5 A

27.0 -

26. 5

26. 0
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——

M_W
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23.

23.

22.

22.

24.

24,

24.

23.

23.

27.

27.

26.

26.

25.

25.

24.

m=580, FV0=0

—o—

M_E

580

5é5 560
m=950,n FV0=0

—0—

M_E

950

9%5 9é0
m=755,n FV0=0

—— MW

755

760 765

m=625, FV0=0

24. 2 -

24.0 -

23. 8

23.6

—o— ME

625
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635

27 A

26 -

25 -

24 -

23 A

-o— MW
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m=855,n FV0=0

T
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860
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m=753, FV0=0
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—0—

M_E
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7é0 765
m=580,n FV0=0

26.0 A
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23.0 A

—o—

M_W
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125
1 1 1 1 1 1 1 _O
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P3-11

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

06:25 283 150.0 2.888 FH| 1BRi%@06:25 B3zh (kAMEEEE)
07:25 283 150.0 2. 888 FH| 1BRi%@07:25 Bzh (kABERSE)
08:25 283 150.0 2. 888 FH| 1RRi%@08:25 Bz (KAERSE)
09:45 283 150.0 2.888 PH| {Ri%@09:45 Bz (GRAERSE)
11:05 283 150.0 2. 888 FH| 1BRi%e@11:05 Bzh (kEBERSE)
13:05 283 150.0 2.888 |XM| {Ri&e13:05 Bzh (KREERSE)
15:25 283 150. 0 2.888 |/hMI| {Ri%e15:25 Bz (KAEESR)
29t]1981.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 5.8

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
#[ERECE (2087. 0 vs 4813.0) iH 5



P3-11_0, Day=59 (2025-05-31)
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FRV (ml plant-1)

VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1800 B
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1200 218

12L
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00 60
Warning: lcol [FVI',| "FVO’'] missing

Vi — ME P

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.8

Warning: lcol ['PHB’,| 'PHC’'] missing
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e o & s 8 o |

0.8

B | B [ BH [ BA [ BA [ BA | BA | BA | BA | BH | BH | B | BH | K[| BA [ B |/e|/ | E=| B | B |$=

0.6

0.4+

0.2~

808 3

—_— 4

| _obs
PPFD_obs

RH_obs

d o RHo obs

1.50 4

‘M e v f

2000

1000

30.0

27.5

22.5

20.0

2000

1000

2000

1000

2000

1000

FRV (ml d-1)
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25.
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23.6 -
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25 ~
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27.5 A
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26.5 A
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25.0 -

m=420, FV0=0
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m=640,n FV0=0

—o— ME
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—O—

660 860
m=580,n FV0=0

400

—O—

580 585 590

m=460, FV0=0
23254 —e— MWE
23.00 -
22.75 -
22.50 -
22,95 -
22.00 -
T T T
460 465 470
m=700,m FV0=0
24.4 - o nt
24.2 -
24.0 -
23.8 -
23.6 -
T T T
700 705 710
m=420,m FV0=0
2454 @ MW
24.0 -
23.5 -
23.0 -
22.5 -
420 425 430
m=640,m FV0=0
27.5 1 o= MW
27.0 -
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25 0 18
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

06:40 283 150.0 2.888 FH| 1BRi%@06:40 B3h (KAL)
07:35 283 150.0 2.888 FE| 1BRi%@07:35 B (kAERSE)
08:30 283 150.0 2. 888 FE| 1BRi%@08:30 Bz (kB{EREE)
10:05 283 150.0 2.888 FA| {Ri&@10:05 Bzl (GkAEREEE)
11:10 283 150.0 2.888 FA| {Ri&e11:10 Bz (GRAEEE)
11:55 283 150.0 2.888 FE| 1BRi%@11:55 Bz (kAERSE)
12:40 283 150.0 2.888 FA| {Ri&e@12:40 Bz CGRAEEEE)
13:30 283 150.0 2.888 FH| 1Ri%@13:30 B3h (KAERSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kPBERSE)
16:30 283 150.0 2.888 FA| 1Bi%@16:30 Bah (RAERES)
24t 2830.0 (10%%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.7

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEIHECE (2220.0 vs 4893.0) 15

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=58 (2025-05-30)

150 feeeeef————f——————f———————f——————f————f ] ———— ]
V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 3000
0. 2400 2908
ous 1800 [800 | 2000
321
50 -
60 o L 1000
Warning: lcol [FVI',| "FVO’'] missing
0 -0
( 430. 0
200 -
150 L 27.5
100_ —250
50 L 22.5
1.0 20.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.7 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
400 < . g 4000
Bylnlt:@D62 01:51: ET=2328 Fg=2850.0 Ro=588.0
- 3000
L 2000
- 1000
4084 0 1 2 3 4 5 6 7 8 9O 10 11 1213 14 B 1617118197202 12125F3%00
G| | B | B | BB | B BB | B | S 5 5 | BB | 5 | BB | B | BB & 5 5 5 5 i 5
1
300 1 ByEt @D58 16:06: ET=1633 Fg=1800. 0 Ro=nan ! - 3000
1
200 - —6—o—o L 2000
100 - - : I - 1000
—t . —— e —
408; 0 1 2 3 4 5 6 7 8 S [0 11 121314 1] 16 1711819720 211221 25F3%000
%n| 25|25 H FA [A [A FA FA [A A FA FA [A A FA FA [A A EEZSEZSEZ3 N
1
300 1 ByMWoFy! @D62 01:51: ET=1327 Fg=1500.0 Ro=190.0 - 3000
200 - : L 2000
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100 - : ; - 1000
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1500 4 _ 4
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A e v P

FRV (ml d-1)

|
=

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



23.
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m=420, FV0=0 m=460, FV0=0 m=530, FV0=0

— NE 23.6
23.8
23. 4
22.5 4 23.6
23.2 A 23. 4
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23 0 _ 23 2 N
23.0
21.5 22 8 4
—— ME | ,, ] —o— ME
T T T T T T T T T T T T T
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m=595,m FV0=0 m=645,m FV0=0 m=690,m FV0=0 m=725,m FV0=0
24.0 24.2 o— ne | 2427 — NE
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23. 4 i
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T T T T T T T T T T T T
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24.0 | i
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6 -
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8 .
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27.
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26.

25.

25.

24.

217.

27.
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26.

25.

25.

28.

27.

27.
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26.
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m=530, FV0=0

—0—

M_W

530

5é5 5&0
m=725,n FV0=0

——

M_W
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m=885,n FV0=0

—0—

M_W
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27.
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m=595, FV0=0

—0—

M_w

595
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m=760,n FV0=0

—0—

M_W
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m=955,n FV0=0

—0—

M_W

955

960 965
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27.
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m=645, FV0=0

——

M_W
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m=795,n FV0=0

—0—

M_W
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27.

26.
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25.

28.

27.

21.

26.

26.

25.

m=690, FV0=0

—0— MW

690

695 700
m=835,n FV0=0

—— MW

835

840 845




